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java.util.Scanner

/**
* Calculate U=R *1I
*
* @author Kevin Maurizi
*/
URI

Scanner scanner
/**
* constructor
*/
URI
scanner Scanner(System.in

/**

* starts the execution

>

* @param args

* command line arguments
*/

void main(String! | args
URI program URI

program.calculate
scanner.close

/**
* run the userdialog and calculate
*/
void calculate

String spannung
String widerstand
String stromstaerke
String resultat o

System.out.print("U > "
spannung scanner.nextlLine

System.out.print ("R >
widerstand scanner.nextlLine

System.out.print("I > "
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stromstaerke scanner.nextlLine

// Verarbeitung
spannung.equals("?"
double i Double.valueOf (stromstaerke
double r Double.valueOf (widerstand
resultat "Resultat U = " i r oy

stromstaerke.equals("?"

double u = Double.valueOf(spannung

double r = Double.valueOf(widerstand
resultat "Resultat I =" u r A"

widerstand.equals("?"
double u = Double.valueOf(spannung
double i = Double.valueOf(stromstaerke
resultat "Resultat R = " u i " Ohm"

// Ausgabe
System.out.println(resultat
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